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Instructions

“sectnns Aand B. '

Fhis papel copsists ol | . |
¢tion A and four (4) questions from section B

Ansyyer all questrais ili st

Al necessary working and answers foreach question done iust be shown clear

\atheniatical tables and graph pEPErS may be tised unlcss otherwise stated
Yisu are advised 1 spend not more that twe (2) hours on sechien A
Elecirome calculators are not sllowed in the examination room

Cellplat phones are not allowed in the eXaAmMInAtion room

Write vour Fxamination Number on everv page of your answer boakler

I his ISHAET Consists of 8 pi inted MECS

Find this and other free resources at: http://maktaba.tetea.org




SECTION A (68 marks)
Anewer all guestions i this sechon showing all necessiry Work ngn md answers
(a)  Fund the product of the 1.0 N oand o0 F ot 440 1200 anad i

(b)  Rouond ofl each of the (olowing numibers w one decimb) plucs

i
f = 1 15
3

\f = 411 k4]

A\ =10 7R

(c) Use the results obtsined i 1.(b) above (o find the value of X . given Bl
_ 1\
Y = — (6 marka)
‘l
l'

() By using the properties of exponents, simphify the espression

'——. e I[JH ol LISE I..ﬂ"l-;'-,l

(hi  Solve for x in the loparithmic equation 2log & = log4 « logids —5)

{6 marks)

(a) (273" 1=(3")2") hing
11} =)
1|
{11 —

{15 Studenis 1es) reailis on three suilviects: Mathematuo POVHICS and LRSS
show that 20 passed Chemustry, 5 passed all the theee subiects. |2 plsse
. ! -

VMiathematvs ;uu.' |_’1";:. "-ik,'ﬁ ::nt_l 1 ;‘ru?-ni_'._l SMarthemanes 1] [ L hermEatl i

sludenl PAS 2=l at least two Subnects

|l [yraw o well labzled Venn diagram (o represent these ress
(i1} How many students passed Physies and Chemisiry”

(111} How many siudents dh'i T!'IL' test ! (6 murksi
1B8) solve the Tollowing Simultaneous Sy oS
‘ —
e .
|
1
1 If 4 andd A are two vedtors such it A= 2+ :v{ .1“'.! B —ad] 4

Vind Ww PO LI vieriore A whiere A s he I'I',Hii"."l*l““ al A8
(6 marks)
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I thve perimoter of i parallelogiam ABCH g

Fiivd Uie Areh &ty i Mg

LL
I e —
- ] -1 1 . |
l L
| A
= l:) :
. "= ratio of 1he arez of two ssinglar inaneles i5 1'4 Find the f &

; B m: ;
O3] .,_-.p.‘-n-.iini_.‘ ‘HJE" |6 marksi

e vidie YV of 2 dismend is propormionzl Lo the square of its waighl ¥ n
dext & dlamoad weighing 19 2rams 5 warth shs, Z00,0U0=
! - iz | £§ ¥ Si= f B 1}
(gl Wnie ¢own an cxpressivh which relates V and W
h)  Find the value of 5 diamond weighmyg 30 grams
4 vetehit dtamand wartl shs 5 000,0007=
i Find the weight of 4 diamai (b marks)
F - i I 1 1 1 = 5 I
1 3] Soay people working 8 hours 4 dal ke 4 de o £
How lorie will it takie twenty people 10 pafivale 1 54
| S b & doy™
Neema bousht 4 sty of spes (contalning M eEus
= | H =
e SEes using a htre of kerosene costilig shs = i marhs)
price ol shs 1 00/=gaeh, Find her perceniayc o
3 | Wrlle divwen the nevwt bwn terms 1o the scquere 4 T="0
18] il lin" n'-|r I_.q:‘-_r.' il it 'l,ill 1- II 1 _'!|p 5
ullerence
|
113 ]1..”': .'Il.l‘ ?I;._‘ l orm iy 11} ]"_ =
i the suen of all e tenys in the praglt
| A0 S feam ol & G b & the third tenm 1 = @09 50 5 yarh

ponitive Fioul tlse Fest teven, (hir cainmen i
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9 (&) Totind the hetght of a ower o sinevayor sets upy s thesduhine TR0 B the
hase of the tower e tinds that the anele o elevarion toothe top of the towe

W I the lstrament 1€ 15 m obove the ground. swhat 15 the helght of the

[kt

() The rigit angled triangdle in the diagrmm below hos dides of letioith 7 e 240

I ared 150 om.

71 Cm

M cm

(1) Find the value of' ¥

(iiy  Caleulme the arca of the tmangle
{6 marks)

10 Study the following diagram carehully and answer the questions that follos

[1+ J)LFH

K x cm

() {v+2)cm

(-n . 13_j-r_m

(4 (1) Winle down n eXpression for e arga ol recian g!x' R

i1 Show that the total el of rectangles B and Crps (S0 & 3 2 {1 s

(151 e ot wres ol 1 gnd O 14 sacem - enloulnie the value of v sorredt (o i

I 5)
decinial place {6 mark
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SECTION B (40 marks)
Apnswer four (4) quenhion rom this séstion

: . ST 'hih‘ Myl -'Hh‘ h’Tﬁ‘L'l.ﬂ ragar ||
: v fawvo Types of sunmes W - 10 e ki
'1 A 'hopk { ‘d' II I:':\"‘h -“h"'"”r PI“r h“\‘:'- "“I“"l Uhe heowr AT bs suld 1 shis "!Hll‘r' n
wﬂﬂ';‘:ﬁ ﬁ?"t fm shs | SO0 000= ayatlable and deckdes W by af lennt 0 Wagy
= i . b

! e M wlemy docsded that ol least ane third ol the bags should b ko ws
IWthrrbU\ﬁ A\ bﬂl“i of winle sugar ;ll'lh'l 3 h“E"‘ ol Brgwn SR
g buy's v DRl

mnr 15

“ Wiite down three (3) eguniitics which will summarnze the aboe
(LI :

t information

(k) Represetil hese inequalities graphically

The shopheeper makes profit of $hs. 10,000/= from a bag of white sugar und
Et" i i . gk i & g1l L ;‘I ..|,:I,..
(ﬂ: h'-‘u 2() ('H'l(h: fri:ﬂ‘l'l y hki}_l ¢l hrutﬂ.ﬂ sugar. .-\h.-l.IH'HHE |1r. . adl] el y BT

. h'-:il\nw wany baes of each 1ype e should buy to masimize his profi

ElE’E his b $ . =3 -

(10 murks)
Find that profit.

12 (&) Theageal whicl a child [ist 'uullm:'dit.u_thc:l “i;”ﬁft]ILH;E""Ll::i:?i L |!] 1H.-u.
B eight (8) children. The I‘L".-'-_I.I'llzi u'-::r-\:_ ?_.Hl_lru.l d012.02¢
the Mean. Mode and Median of the data.
(h) A survey was made on the number o l_' Fl.'ft"lmr.' ntmlml :: rl l:-n':t, n an
particular week. A vandom sample of 100 conlerence €
the tesults were as follows:

Number of people 4. l cncied | 163-169
attending 150=154 | 133-15Y | :
dIng , - J LB
comlerence _ . T
Number of _ e 29
Lt;r_ﬂl‘::ﬁimu EEI:I.I:'I'E'Q l i B _l‘;___,___ i
s v i WILREE
“'l w1 hl:’-lngt‘:ﬂﬂl and a L‘tlmtll..!hn [redliens)
results
111LH~'.!-.L':'=']"'L L il
(1) Estimate the median of this data fron the €\ (10

12 ()] above.

Find this and other free resources at: http://maktaba.tetea.org




o deisen below moel nt {

LA al The two tongents AC and RC 10 1he €1

_: —Jufr—_& —=== |

B

11 0 is the center af the cirele. calculite the size of the angles marked & nd

||-.| A recianeula MOx W iﬂ] tu'rrr A 1'-,_‘)*{ and base \U'l [* h;'li-i \H = HOum f;". = A
cm. and WA = 3 ¢m

Calculate the
(1) length of AL
(1) angle between W and AC

(c) A ship sails from port /2 10 & distance 7 Km 0N & bearigg ol S06 ald Hien
further |1 km on a bearing of 1707 1o aipive a1 ¥ Caloulare the distance N
1o (10 marks)
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or T, 10 e

;--__--. onieries Tor! ql I ‘.
"""”'ﬁ"“'“ :4::“'1- s, 27 ), 100/,

_ w..'..J | ? ' m‘ ' m ;‘ 'cml'"ﬂ"“ﬂhm
L 13" she sl mmm{gwm worth Tafs. 430,000/
B 1 .""Tf*h. “ Ii?m'umﬂh Tshs, '.-'lﬁu.ooma
it | songl mm.ﬁ mmﬁd the shap worth Tshs. 450,000/
0 . m _____ a:ulmmﬁp Hhanageiment patd wuges

I‘I@UWEW in a cash bmk
Bring dawn the  Balanee at the end of August 26" 2008

| (10 msrlcs)

. . Sl . 3
(a) fi & the point (1, 2). It is ranslated onto the point § by the \'cnlurr

i

'Il.J

EX:

the dﬁmﬁinﬂm of S
the vectors which translates S onto R.

¥
.pl'
af“

(b} The matrix {.01 E'l) represents a single transformation
) Describe fully this transformation.

) Find the coordinates of the imige of the point (5, 3) after this
-~ lranslormation,

M! dmm lrt‘l'.'nl!l:linﬁ iy the v-axis and Ryg 2 rotation shou
Elﬂlﬂ'l m"“ﬂh’ of 180" for any poinl (X, ¥)

the OFigH

. Find RpaMatx. v and MaRig (% ¥). (10 marks)
O R My comunmutative? Give o reason.

el
curds e thett MIN

Al The nmnhm { 1o 20 are each written on a card, the 20
uﬂm’“ Qﬂ“ lfﬂ-"-l 1» chosen at random from (he ]'mf.k

_ M‘l:*pmbahmu- that the number on the card 15
| n
l: 0w Lactoy o 24
B s
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| prepruing |
[ pa— L THEAY th i LY ‘:lq:'l'\" M |
| | v AN |':'=' ettt LY (hat P ::.Hfhl:'ﬁw lie hie ehips lor sufll=
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L g bree daagran
ghups
033"

roee sWimueing *__———________ e C"tﬂ""‘

. cHips
l_‘—|_ — yf/
— _

LI T -

el

_-..'-r-
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a 5 U
| is iAW LIALAILIR = *h"\

T

Mhe orobability that Joti bis chips TOr SSppey T Sy day 158 0.5

1) Find x

|11} Suppose thar Jof s chips [or supper. Hnd the probabiliny that he weare

swinening Usat day

¢} The function Tis defined by 1 @+, for x& R where 2 and b are
constams, Niseghvenths T 21= l d fi51=5.

Find the valoeal aand b
i L'."Hl"i".'*phf.' E."qd.}til-'ﬂ ! = r‘xl:{t l"l l'.l1.:|l'i\'-1

gy v
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